\_umomz_x

TECHNOLOGY SERVICES

Client:
Well Name: 513370

County:

Surface Location:
Country:
State:

Rig Name:
Latitude:
Longitude:
License/Permit#:
Job No:
Permanent Datum:
Drilling Measurement From:
GL:

KB:

Spud Date:

Print Date:

Log Start Depth:
Log End Depth:

Bottom Hole Temp:

EQT Production Company

Lewis Maxwell Lease

Unique ID/API:

47-17-05957

Doddridge County, W.V.
USA

West Virginia

Savanna 640
39*16'19.681 N
80* 46' 18.273 W
05957

1130027

mean sea level

Rig Floor
1180 Feet
1194 Feet

February 3, 2011

6150 Feet
9660 Feet
350 °F

MWD Gamma / ROP

Company Representative

B.Teele / D.Vanhausen

Geologist
Kevin Wolfe

Directional Drillers

Lawerence Coetzee

Robert Parker

MWD Operator

Bob Dillon
Tim Elliott
Greg Stephan

Leg Name

Main Leg

Comments:

PHOENIX TECHNOLOGY SERVICES LP ("PHOENIX") DOES NOT MAKE AND EXPRESSLY DISCLAIMS ALL WARRANTIES, REPRESENTATIONS AND CONDITIONS, WITH
RESPECT TO THE INFORMATION CONTAINED IN THIS DOCUMENT, WHETHER ORAL OR WRITTEN, EXPRESS OR IMPLIED OR ARISING FROM CONTRACT OR
STATUTE INCLUDING, WITHOUT LIMITATION, THE IMPLIED WARRANTIES OF MERCHANTABILITY, ACCURACY AND FITNESS FOR A PARTICULAR PURPOSE.
ANYONE USING THIS INFORMATION DOES SO AT THEIR OWN RISK AND ACKNOWLEDGES AND AGREES THAT PHOENIX SHALL NOT BE LIABLE FOR ANY ERROR,
OMISSION, DEFECT, DEFICIENCY, OR NONCONFORMITY IN THE INFORMATION AND WITHOUT LIMITING THE FOREGOING, PHOENIX DOES NOT WARRANT THAT
THE INFORMATION (OR THE USE THEREOF) WILL BE FREE OF ALL ERRORS OR THAT IT DOES NOT INFRINGE ANY THIRD PARTY RIGHTS. ANYONE USING THE
INFORMATION AGREES TO INDEMNIFY AND HOLD PHOENIX HARMLESS FROM ALL. CLAIMS, ACTIONS, COSTS (INCLUDING LEGAL COSTS ON A SOLICITOR AND
HIS OWN CLIENT BASIS) AND LIABILITIES ARISING FROM OR IN CONNECTION WITH THE USE OF THE INFORMATION.
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EQT Production Company MD
513370
Doddridge County, W.V. 1:240
1130027 Feet
0 Gamma (API) 250 0 ROP (ft/hr) 150
250 Gamma (API) 500 150 ROP (ft/hr) 300
500 Gamma (API) 750
750 Gamma (API) 1000
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MD: 6159
INC: 2
AZM: 144.6

MD: 6190
INC: 2.1
AZM: 156.6

MD: 6222
INC: 1
AZM: 213

XINJOHd

SADIAYIS ADOTONHDIL

MD: 6254
INC: 3.1
AZM: 292 .4

MD: 6285 | INC: 6.1 | AZM: 305.7

MD: 6316 | INC: 8.8 | AZM: 295.2

MD: 6347 | INC: 12.2 | AZM: 292.7
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MD: 6369 | INC: 14.8 | AZM: 293.6

MD: 6400 | INC: 17.9 | AZM: 299

MD: 6431 | INC: 20.2 | AZM: 307.5

MD: 6462 | INC: 22.9 | AZM: 317.5

MD: 6493 | INC: 25.4 | AZM: 324.2

MD: 6525 | INC: 28.7 | AZM: 329.2

MD: 6558 | INC: 31.5 | AZM: 333.8

MD: 6590 | INC: 34.9 | AZM: 338.4
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MD:

MD:

MD:

MD:

MD:

MD:

MD:

MD:

6622 | INC:

6654 | INC:

6685 | INC:

6717 | INC:

6749 | INC:

6780 | INC:

6811 | INC:

6843 | INC:

38.9 | AZM:

42.8 | AZM:

47.3 | AZM:

51.4 | AZM:

55.7 | AZM:

59.6 | AZM:

64.1 | AZM:

69.3 | AZM:

340.8

344.5

345.2

346.7

343.4

343.4

339.8

340



1
_____ ~ _Jj
:? 6870 ,}
i‘\
C
i 6890 [
:
s=Eillun:
2': o 6910 3;
* T
=t 6930 g
-
< Bl
% 6950 i
4 >
B N
6970 (Z*
l
/ -
2 B
= 6990 f‘;
. t-
? 7010 7\
S E —
? 7030 —
§ <
» >
\% 7050 é>
/ |
{ S
( 7070 3
.
g
35 7090
2

AV

MD: 6875 | INC: 73.4 | AZM: 339.4

MD: 6906 | INC: 78.7 | AZM: 3411

MD: 6939 | INC: 82.9 | AZM: 341 .4

MD: 6971 | INC: 87.1 | AZM: 342.8

MD: 7002 | INC: 90.4 | AZM: 343.6

MD: 7034 | INC: 93.1 | AZM: 343.9

MD: 7065 | INC: 93.3 | AZM: 344.6
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MD: 7104 | INC: 93.4 | AZM: 344.8

MD: 7167 | INC: 91.4 | AZM: 343.2

MD: 7231 | INC: 89.9 | AZM: 342.2

MD: 7295 | INC: 89.3 | AZM: 341.2
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MD: 7359 | INC: 88.1 | AZM: 338.7

MD: 7487 | INC: 88.4 | AZM: 332.9

MD: 7550 | INC: 87.1 | AZM: 331.4
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MD: 7613 | INC: 87.3 | AZM: 330

MD: 7675 | INC: 88.6 | AZM: 328.9

MD: 7739 | INC: 89.1 | AZM: 328.7

MD: 7802 | INC: 89.2 | AZM: 330.5
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MD: 7864 | INC: 89 | AZM: 331.6

MD: 7928 | INC: 88.9 | AZM: 331.5

MD: 7989 | INC: 90.4 | AZM: 332.1

MD: 8052 | INC: 90.7 | AZM: 333.6
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MD: 8115 | INC: 90.5 | AZM: 334.5

MD: 8179 | INC: 90 | AZM: 336.9

MD: 8242 | INC: 89.9 | AZM: 337.2

MD: 8305 | INC: 89.9 | AZM: 336.1
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MD: 8368 | INC: 90 | AZM: 335.4

MD: 8431 | INC: 89.7 | AZM: 336.8

MD: 8495 | INC: 90.2 | AZM: 337.5

MD: 8559 | INC: 87.8 | AZM: 338.5
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MD: 8621 | INC: 87.8 | AZM: 338.3

MD: 8684 | INC: 88.3 | AZM: 337.4

MD: 8747 | INC: 88.8 | AZM: 337.2

MD: 8811 | INC: 89.3 | AZM: 336.5
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MD: 8875 | INC: 89.8 | AZM: 336.6

MD: 8938 | INC: 90 | AZM: 336

MD: 9001 | INC: 89.1 | AZM: 336.5

MD: 9065 | INC: 89 | AZM: 336.8
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MD: 9128 | INC: 89.3 | AZM: 336.4

MD: 9191 | INC: 89.4 | AZM: 336.8

MD: 9254 | INC: 90 | AZM: 336.1

MD: 9318 | INC: 88.7 | AZM: 335.3
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MD: 9381 | INC: 89.5 | AZM: 336.3

MD: 9445 | INC: 90.7 | AZM: 337.5

MD: 9508 | INC: 88.9 | AZM: 336.5

MD: 9572 | INC: 89.1 | AZM: 335.8
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MD: 9612 | INC: 90.4 | AZM: 337.3

MD: 9655 | INC: 90.4 | AZM: 337.3



